SOL2.2

September 16, 2020 9:01 AM

Name: Date:

Math 9 Section 2.2 Powers of Tens and Zeros

1. Evaluate the following without a calculator:

a) 10° b) -7 c) 10~ d) 10°
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2. Write each of the following as a power of 10;

a) 945 b) 12,391 c) 9385
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d) 12,035 e) 1,003,840 f) 30,003,152
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3. Write each of the following in standard form:

2) 92107 + B 107+ 71043 b} &x10° + 2% 10° +8x10° 41 o) Tx 107 465107 + 3107 +1
q
1093, 02301 70600301,
d) 5x10° + 6x10° +9x10° +2x10 | e) 1x10° + 2x10° +9x10° +5 f) 5 10° + 110" + 9100+ 1
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4, Solve for “x” in each of the following:
a) ' =1,000.gﬂ b} 107 = 0.00001 c) 10" = 10000
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5. Given that a,b,c, and d are all single digit integers, what is the value of g +b+c+d ?
9x10° + 810" +ex 107 +d =879]
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6. The distance from the sun to the earth is 15x10" ki . If a space ship can travel at 10000km/s, how
LAY
long will it take to travel from the earth to the sun? - Distonnt
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7. The mass of an electron m d the mass of a proton is 1.7=107". How many electrons is
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8. Solve for “x” in each of the following equation: * = E*_“’__r - 0.18683% 10
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